
22F 2 1 23A1.568 = 1.56 4" 23C

1) .08G + .59 = 1.39 7) 8f12.5O 1) done
.08G = 1.39 - .59 800

1) 1.;.-7=.141.=14£%

.08G =.8 2) 6.;.-7= .85 t = 851-%
7 7

450
G =.8.;.- .08 400

2) 2.;.-9 = .22 £ = 221. %

G = 10 3) 3 + 10 = .30 = 30%
9 9

50
2) .08(10) + .59 = 1.39 48 4) 2 -i- 5 = .40 = 40% 3) 4.;.-5 = .80 = 80%

.8 + .59 = 1.39 7.;.-8 = .87 t = 87 ~ % 4) 5.;.-12= 41£=41£%

1.39 = 1.39 8) 6.5 5) . 3 3

3) .3X + 2.4 = 2.58 9) .321 2.;.-3= .66£ =661.%
6) 10.;.-11 = .90.!.Q. = 90.!.Q.% 5)

.3X = 2.58 - 2.4 10) 62 11 11 3 3

.3X = .18 5 5 5 125 5 3.;.-8 = .37 t = 37 t %
X = .18.;.-.3 11) 7) .1.2. = 13 15 = .86% = 86~%

6)

X=.6
2"x2"x2"=a=15scu. ft. 15

4)
12) .9 x .9 x .9 = .729 cu. m 8) 1 2 2 7) 87.;.-100 = .87 = 87%

.3(.6) + 2.4 = 2.58
6"=1 6=.163=163%

.18 + 2.4 =2.58 13) 4.8 x 4.8 x 4.8 = 110.592 cu in 8) 5.;.-8 = .62 t = 62 ~ %

2.58 = 2.58 14) 1/2(6)(16) = 48 sq. ft. 9) 1&.=16 50 = .32 = 32%50
15) 10 + 10 + 16 = 36 ft.

9) 1 -i- 3 = .33.1 = 33.1 %

.72"£'
10) 50 - 16 = 34 not wearing hats

3 3

5) 715.10 7
16) 1/2(3)(5.1) = 7.65 sq. m 34 = 34

10) 1 .;.-2 = .50 = 50%
50 = .68 = 68%

490 17) 4.5 + 5.1 + 3.3 = 12.9 m 50

20 18) 3 x 3 = 9 sq. ft. or 100% - 32% = 68%

ti 19) 12 x 15 = 180 sq. ft.

180.;.- 9 = 20 sq. yds. 238

6.27J.. 20) 20 x $9.99 = $199.80 1) 7.;.-10=.70=70%

6) 2112.552 2) 1 .;.-2 = .50 = 50%
1200

5 3) 4.;.-9 = .44.i = 44.i %
A.....- 9 9

15 4) 3.;.-11 = .27 ~ = 27 ~ %
...1...4.. 11 11

5) 3 .;.-5 = .60 = 60%

6) 1 .;.-12= .08 i = 8i%
(J)

7) 3.;.-4 = .75 = 75%
0
c

5 .;.-6 = 83.1 = 83.1 %
.-

8)
o·

. 3 3 ::l
(/)

9) 25 - 3 = 22 correct
I\J
I\J

22 .;.-25 = .88 = 88%
11

10) 35 -i- 100 = .35 = 35%
I\Jco

~V "
0

~M



23E 1 04.1 66 or 104.123D .1 98:::: .20

1..;-9=.11t=11t% 9) 4 8 I 5 0 0 0.0 0 01) 1 -i- 4 = .25 = 25% 9) 2314.570 1)
48000002300

2000002) 7..;-9= .77~=77i% 2270
2) 2..;-3= .66 ~ = 66%%

1920002070
80003) 5..;-16=.31±=31±% 200

3) 11..;-14= .78 ~ = 78~% 4800184
32004) 1..;-8=.12t=12t%

4) 4..;-7 = .57 f = 571% 288010) done
3205) .17X + 1.2 = 1.234 11) 12 x 4 x 4.1 = 196.8 cu. m 5) .3Y + .09 = 1.44 288.17X = 1.234 - 1.2 12) 2.3 x 1.8 x 3.2 = 13.248 cu. ft. .3Y = 1.44 - .09

.17X = .034
13) 38..;-45= .84~=84~% .3Y = 1.35

10) 7 x 6 x 5 = 210 cu. in.X=.034";-.17
Y = 1.35..;-.3

11) 7.5 x 2.4 x 2 = 36 cu. mX=.2 14) 6 + 8 = .75 = 75%
Y=4.5

I x lix 29 = 1827 = 28 35 cu. ft.15) 4 x 2 x 2 = 16 cu. mi. 12)6) .17(.2) + 1.2 = 1.234
6) .3(4.5) + .09 = 1.44 2 4 8 64 64.034 + 1.2 = 1.234 16) 12 x 12 = 144 sq. in.

1.35 + .09 = 1.44 13) 102 + 60 = 162 games total1.234 = 1.234 17) 10 x 10 x 144 = 14,400 sq. in.
1.44=1.44 26 2260;'102 "- 162 - 62 - = 6 - 018) $15.99 x .40 = 6.396 or . -. 27 27

$6.40 off regular price
14) 60..;- 162 = .37 2~ = 37 2~ %2.046:::: 2.05

-7) 131 26.600
8.9 0 9 or 8.90 37 -L % + 62 g§..% = 99 27 % = 100%26000

7) 1 1 198.000 27 27 27600
88000

15) $47.50 x 1.08 = $51.30520
10000

16) round pizza:
80

990078
100 3.14(62):::: 113 sq. in.
aa $5.65 ..;-113 ::::$ .05 per sq. in ..822:::: .82

rectangular pizza:
8) 917.400

1 2.9 8 3 3 or 12.9 8 '37200
12 x 24 = 288 sq. in.200 8) 6177.9000
$11.52..;- 288 = $ .04 per sq. in.180 600000

en170000 rectangular is better price 0
20

120000 c17) 288..;- 144 = 2 sq. ft. .-1Ji
o·59000

18) $4.20 x .75 = $3.15 :J54000 (IJ

36 + 42 + 36 + 42 = 156 in. I\.)5000 19) co
4800 156 ..;-12 = 13ft. 020)

I200
I\.)

180 com


